
[15-112] Lecture 16



A. S += {5,6} 
B. S.remove(5)
C. S.add([1,2])
D. S || {5,6}
E. T = S[2]
F. S.add((1,2))
G. None of the above
H. I don't know

Lecture 16 Poll 1 (SOLO)
Given the set S = {1,2,3,4}, which of the following is 

a syntax error? Check all that apply.



A. S += {5,6} 
B. S.remove(5)
C. S.add([1,2])
D. S || {5,6}
E. T = S[2]
F. S.add((1,2)) 
G. None of the above
H. I don't know

Lecture 11 Poll 1 (GROUP)
Given the set S = {1,2,3,4}, which of the following is 

a runtime error? Check all that apply.



A. S += {5,6}   -> TypeError
B. S.remove(5)  -> KeyError
C. S.add([1,2]) -> TypeError 

  (list unhashable)
D. S || {5,6}   -> Syntax Error
E. T = S[2]     -> TypeError 

(set not subscriptable)
F. S.add((1,2)) -> No Error 

Lecture 11 Poll 1 (SOLUTION)
Given the set S = {1,2,3,4}, which of the following is 

a syntax error? Check all that apply.















A. {1:2, 1:3, 1:4}
B. {1:2, 1:3}
C. {1:2}
D. {1:3, 1:4}
E. {1:3}
F. {1:4}
G. {}
H. I don't know

 d = {1:2, 1:3, 1:4}
 print(d)

Lecture 16 Poll 2 (SOLO)
What is the output of the following code?



A. {1:2, 1:3, 1:4}
B. {1:2, 1:3}
C. {1:2}
D. {1:3, 1:4}
E. {1:3}
F. {1:4}
G. {}
H. I don't know

 d = {1:2, 1:3, 1:4}
 print(d)

Lecture 11 Poll 2 (GROUP)
What is the output of the following code?



A. {1:2, 1:3, 1:4}
B. {1:2, 1:3}
C. {1:2}
D. {1:3, 1:4}
E. {1:3}
F. {1:4} -> ANSWER
G. {}
H. I don't know

 d = {1:2, 1:3, 1:4}
 print(d)

Lecture 11 Poll 2 (SOLUTION)
What is the output of the following code?
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